On the algebraic symmetry of three sets

Hajime Mashima

Abstract

In this section, the symmetry is shown for two and three pairs of rings.
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1 introduction
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1.1 ) L xyz

Proposition 1 p IZFmRETROER 2P + P = 2P ZHi/T & &
ple . plyz = p'le n22), p" ' |z—y

Proof 2

P+ —P=0=p|(x+y—2)?
XoT pl(z—y) LB, —&HIZ

o= (=) (7 L2 g e 0 )

(»—2)21” U(p—1)
z? = (L) (R)
Repyr Dy 2 —y) bt By (s =y
(p—2)12! 1U(p—1)!

P’ | R=plyPteRoTLEI LD

PR (1)
T/, p BBRSEBRUCE LT

LLR (2)

Definition 3 p 1| abc
o (1) &b z—y=p’ta?
e (2) KD z—ax=0P
e )&V ar+y=c
(z—z)—(z+y)=0 ¢
(z—y)—2z=0V —-c"=0 modp
plLep|RBEOT, Db p? [P —c?P =L R

pPlaP — 22 = —c? =0 mod p?

P’z (3)
- L . ,
(0= Gy =2 = e G+ gt e - g )
e = G
P =(z—y) pa LEZE, ERITRAT 2,
(z+y—2)f=(z-y) <pa” - (pp!l)!ux”‘l +o u(pp!l)!:c(z —y)P = (2 y)”‘1>



! !
K = pa? — S —— N 7)'33(2 —y)P 2 — (2 —y)Pt

(p— 1! 1(p—1)!

(3) &b z=p’aa LBIFHDT

(r—-(z=y)'=(-y) K
(p*ac — p” taP)P = pPlaP K
Wala—p ta ) =y oK
2pap( aP~ l)p — ppflapK
p+1( aP~ 1)p =K

pt | K THRIFAUIZ 5780,

LoT
Pl = pP ' (z—y)
—RHC
plle (nz2)=p" 2P = p"L
(=(-y)=>rE-y K
(p aa — pP"~ 1ap)p:pp 1P K
(p"a(a—p e Y)) = p el K
pPraP (o — pPn 1-n,p— 1)p:pp 1P K
pla—p T = K
(a,pn(Pfl)*lapfl) J_p
K
7z

ry—z=z—(:—y)

z+y—z=paa — pP" LaP

T4y —z=p"(ac — p"PH1gP)

Pty —=z



1.11 pl=

x =paa z—y=pllaP
y=bp z—x =10
z=cy r+y=cP
p L aayzS 2146

Proposition 4 z+z—y=p"aS , 6|S = § Layz
Proof 5
pn—1

r+z—y=plaa+p a?

_ pna(a +p(pfl)nflapfl)

pa? =R=py" ' + (2 —y)(...)
R=py*' moda
py* ! La
ala
§5|1S ,0laBBlEFET S, £oT
0 Lx
2e=(+y—2)+@+z-y)
belax4y—z
x L be
8 b2 Bl 6| 20 TIRINBLSLITFET 5, £oT
0 L be
S| BB S |z +2
r=-—z mod§
2P = —2P mod §
2P 4+2P=0 mod
2P — 2P =y?P =0 mod § ZRDT
P + 2P — (2P —2P) =0 mod §
22 20 mod J

Lo T 6L p
5y 5 8|z—yRolXFERRIZ

a2 —yP + (2P +¢yP) =0 mod ¢
227 20 mod ¢
Lo T 0Ly



r=a«a z—yza’p
y="bp z—x =107
2=y x+y=c"?
pLladdS (¥ple—2+y) 2146

Proposition 6 z+z—y=4ad'S" |, §|5 = §Layz
Proof 7
r+z—y=dd +a"?

:a/(a/_i_alpfl)

a? =R=py" '+ (z—y)(...)
R=py*" ! mod d
pyPt Lad

5|18 0|d BBEFET S, £oT
0Lz
2e=(x+y—2)+(@+z-y)
Ve |z +y—2
z Lbcd
SV 7BIE6 | 20 TRINIBROTFIET 2, £oT
§Lbd
8|8 730l |x+=
r=-—z modd
2P =—2P mod ¢
2P+ 2P =0 mod
2P — 2P =yP =0 mod § 7RDT
aP + 2P — (2P —2P) =0 mod §
227 20 mod §

£oT oLp
Sy, 6z —yRoldFEBkIC

2’ —yP + (2P +9y) =0 mod
222 20 mod §
£oT oL~



Theorem 8 (Fermat’s Last Theorem)
HARE n OFIWIZOWT, IROFEREM =3 .y, » D HBABIRIITFEE LW,
2" +yt £ O<z<y<z, n=3)
CHILL T ERETH 5,
2P +yP AP (p23, x,y, 2 F—OPMERTHWIIER)

1.2 [FfEZ#: (Equivalence Transformation)

Definition 9
01 xyz

0 L ayz 72513, ZOWTTHFETZ2DTURDEIICRT N TE S,

P +yP =2z mod¥6
szP7t 4Pl =uyP™t mod @
s2P71 2Pl =2Py? mod 6
stzP~1 =ay? mod 0
taP~tuyP™t = yPzP mod 6
tuaP~ 1 =yzP mod 6
s2P~louyP™t = 2PzP mod 6
suyP~! =2Pz mod 6

szP7hotaPTlouyPTl = 2PyP2P mod 6

stu  =axyz mod f



s2P71 - taP™t = uyP™! mod 6

tu- 52?7+ PuaP ! = tu®y?P"t mod 0
(8) &0

zyz? + tPurP™t = tu*yP~! mod 0
zy(2? +yP) + tuz? ™! = tu*y?' mod 0
2Py + aoyP T 4 PugP! = tu®yP! mod 6
xp+1y + PugPl = tu2yp_1 — myp+1 mod 6@
2Pty 4 2uzP~t = P (e — 2y?) mod 0
tl‘P—l(xp-‘rly +t- tuxp—l) = yp—l(t2u2xp—1 _ ny . t.’l?p_l) mod 0
(6) &b
taP~ (2P Ty 4 ty2P) = yPH(tu - y2P — taPy?) mod 6
taP~ (2P Ty 4 ty2P) = yP (tuz? — tzPy) mod
taP~! = yP 51X
2Py + ty2P = tuz? — tzPy  mod 6
2Py + taPy = tuz? — tyz? mod 0
2P (xy + ty) = 2P~ (tuz — tyz) mod 0

2P (sxy + sty) = s2P 7 (tuz — tyz) mod @

xP = s2P7 B
sy(lx +t) =tz(u—y) mod 6

sy(aP 4 teP~) = taP 1 2(u —y) mod
sy(a? +yP) =yP2z(u —y) mod
syz =yPz(u —y) mod

s2P 7t =yP Y (u—y) mod g

2’ =yP H(u—y) mod (9)



Gl

2Pt ptaP = uyP~t mod 0

sSuzPt 4 su-taP! = suyP"! mod @

s2uzP! 4 yza? = suyP”! mod @

2Pt fyz(2P — o) = suyP™' mod @

SPuzP 4 y2Pt — Pl = su?yP~! mod 6

SPuzP 4 y2Pt = su?yP 7t + P2 mod 6

P72 u + y2?) = su’yP "+ 9yPT 2z mod 6

P72y FuyP2?) = wyP (u - suyP T+ yPT2) mod 6

(1) &b

P N suxPz + uyP2?) = uyP H(uaPz 4+ yPT1z) mod

2P (sua? + uyPz) = uy? ' (uaPz + yPT'z) mod

2P =uyP 72 51F

p+1

sux? +uyPz =uaPz +yP7 2z mod 6

suz? —uaPz = yPTlz —wyPz mod 0
2P~ (sux — urz) = yP(yz — uz) mod 0

taP~ (sux — uxz) = yP(tyz — tuz) mod 0

teP~l =P 2 5H1R

uy?la(s — 2) = tz(y? —uyP™') mod
2Pa(s —z) =tz(y? —2P) mod 0
P e(s —2) = —ta? mod 0
27 Hs —2) = —t2P~' mod



AR
2Pt ptaP = wyP~t mod 0

$2t2P 4 st?aP 7 = st uyP™t mod @

s2t2P71 4 st?2Pl = 22yP mod 6

s2t2P1 4 st?2P7 = 12(2P — 2P) mod 0

$2tzP7 4 st?aP 7t = 2Pt — 2Ptz mod 0
2Pz 4 st22P = 22PT — %2271 mod 6
2PN (2?2 + st?) = 22PN — s%2P71 mod @

oP 7 (sw?2 2P 4§22 2P = 5P (@2P T — 5. st2P7h) mod 0

(5) &b
2P (s2?2P 4 st - ayP) = 52PN (@2PT — szyP)  mod 6
2P (sx2P + styP) = s2P (2P — s2yP) mod 0
xP = s2P 1 IR
sxz2P + sty = 2P — szyP  mod 6
sty? + szy? = x2PT — szzP mod 6
yP~(sty + sxy) = 2P(xz — sz) mod

uy? " (sty + sxy) = 2P (uxz — sux) mod 0

wyP~t = 2P 72 51F
sy(t+z) =ux(z —s) mod

( ) = ux(2f —s2P7') mod

2Pyt 4+ x) = ux(zP — 2P) mod 0

:L'pfly(t +x)=uy® modd
(t+z)=u

2Pt 4 2) = 2P mod @ (11)



1.3 FRDOZEM (Solution Conditions)
0L ayz 251X, ZOHWTEDFETE2OTUTDESICRT Z e TE S,

2 +UzP"1 =Ty?"! mod 6

P —yP+U2P1 = TyP' mod 6
P+ U2 = P4+ Ty mod 6
P+ U) = yPHy+T) modd (12)
P Nyz+yU) = y-y” '(y+T) modd

yz=UT mod 0 =

P HUT +yU) = yP(y+T) mod @
UL Y T+y) = y?(T+y) mod¥h
AR
22PNz +U) = yP Hyz+2T) mod 6
Pz4+U) = Y UT +2T) mod 6
PU+2) = Ty ' (U+2) mod @

XoTyz=UT mod 0 DL ZEDEMILITD 2D TH %,
Definition 10

Condition L
Uz~ =y? mod 6
Ty?~' =27 mod 0
or
Condition R
UzP~l = -2 mod 6

TyP~! = —y? mod @

10



0L zyz 7251, ZOWTTHFETIDTURDOELIICRT N TE S,

—U' 2P P = TPt

_y'zr-1 Y
—U P 4P
fzpfl(U' —2)

—2P" YWU'z — x2)

xz=U'T

—2P7 YWU' - U'T")

~U' 2 e —-T)
Ak
—z- TN U —2) =
*Zp(Ulfz) =
U —2) =

mod 6

—~T'zP~1 mod @
2 —T'zP~' mod 6

2P~ Yz —T') mod

z-2P Yz —T') mod 6
mod 0 =

= 2P(z—T') mod 6

= 2P(x—-T') mod 6

2P Hzz —T'2) mod
2P"HU'T —T'2) mod @
~T'2P~ (U’ — 2) mod 6

Yo Tzz=U'T mod § Dt ZREDEBEMILITD2EYTH 3,

Definition 11

Condition L

_U’prl

—T'zP~!

or
Condition R

_y'p-1

—Tlap~t =

P mod 0

z? mod 6

—zP mod 0

—2? mod 0

11

(13)



0L zyz 7251, ZOWTTHFETIDTURDOELIICRT N TE S,

—UyP 7t —T72P7 = 2P mod 6
—UryPt Pt 2 +y? mod 0
—gP — TPt y? +U7yP~1 mod @
—zP Nz +T7) y?"Hy+U”) mod 6
— 2" ey +T7y) = y-y" '(y+U") mod 0

zy=U"T" mod 0 =

—wpfl(U”T”—i—T”y) = yP’(y+U”) mod 6
~T2P YU +y) = yP(y+U”) mod 6

FIkELIZ

—x 2P Nz +T7) y?" Yy +2U”) mod 0
—2P(x+T17) = ypfl(U”T” +2U”) mod 0
Plx+T") = Uy YT +2x) mod¥d

XoTay=U"T" mod § DL ZRDFEMIIATD 2D TH 5,
Definition 12

Condition L
—U’yP L =2P mod @
—T72P" L =y? mod 6

or

Condition R
—U’y? P =y? mod @

—T72P7 = 2P mod 0

12



1.4 BRE%EMH (Congruent Conditions)
Proposition 13 zP + y? = 2P mod § ¥ %3 FEAN L SRS

zyz L 0
ryz = stu mod f
zyz = (u—y)(z—s)(t+2) mod¥

BIURMEZEAER D IODDTH %, S (9)(10)(11)

2Pt ptaP Tt = uyP™t mod 0

(3

(u—y)y" '+ (z— )" = (t+2)2""" mod 0

1.4.1 Condition L

o 2P —yxP~l = —22P71 mod §

o xyP~t —yP = —zyP~! mod §

o 2Pl —yzP~l=_2P mod§
EXZWHSEZ 2,

Definition 14

Condition L,,

Ly : aP — yaP~1 = 22’7 mod § (15)
Lo: —ayPl49y?  =2yP! modé (16)
Ly: —xzPl4yzPl =2 modé (17)
xP +taP~1 = (t+x)zP"' mod §
(u—y)y?~! +yP =uy’"! mod ¢
52Vt H(z—8)2P7! =2P mod 4
£oT
s = —xz modd
t = —y modd
v = 2z modJ
zyz L0
zyz = stu  mod §
xyz = (u—y)(z —8)(t+x) mod ¢
ARG 27T,

13



—aP~t =yl = 2P~ mod § 25X

P +yP= 2P mod )
<
2P 4yl =2yt mod §
—z2P7t 4y = —zaP ! mod §
—zyP~t  —yzP~! =P mod

1.4.2 Condition R

Proposition 15
—aPT £ yPl £ P71 mod §

Proof 16
o 2P+ zzP~ ! = y2P~! mod §
o zyP 1+ 2P~ =¢P mod §
o 2Pl 4 2P =y2P~! mod §

Xz IEZR 5,

Definition 17

Condition R,

Ry:  xP+ zaP ! =yzP"! mod§
Ry: —zyP'49y? =ay*' modds
Ry: y2P7l—z2P7l =2 mod$d
aP +taP~1 = (t+x)zP"' mod §
(u—y)y"™! +yP =uy’”" mod §
52771 H(z—s)2P"1 =2P modd
EoT
s = y mod§
= 2z modd
v = x modd
zyz Lo
xyz = stu mod §
xyz = (u—y)(z —8)(t+x) mod ¢
ARGz 75,

14



1.4.3 #3@ (Common)

(15)(18) &b

(16)(19) & b

(17)(20) & b

2P —yaP~! = —z2P"! mod §

2P 4zaP~! =yzP"! mod §

zzP~ o yaxP~t = yP2P mod §
(a:p’l)2 =P 12P71 mod §

—zyP™t 4P = zyP"! mod
—zyPl 4P =2yP7t mod 6

—zyP~ L zyP~l = 2P2P mod §
(y”_l)2 = 2P 1271 mod ¢
—zzP7t 4yzPl =2P mod
yzP7t —z2P71 =2 mod§
yzP~t . —z2P7! =2Py? mod
(zp*1)2 = 2P 1yP~1 mod §

15



(21)(22)(23) & b

mod §

mod §

— (xp_1)3 = (y”_l)3 = (zp_1)3 mod §
0 =( 1)’ = ()" = (@ =y ()2 T+ (7)) mod 6
0 = (xp_l)s + (7)) = (P71 2P (P12 — PP 4 (2P
0 = (@)’ + ()" =@y @Y - )
Definition 18

0= (") = (y»)’ = (L1)(Ry) mod§

0= (av”il)3 + (z”*l)3 = (L2)(R2) mod ¢

0= (2" + (1)’ = (Ls)(Rs) mod §

A% - B®=(A- B)(3AB + (A — B)?)
A+ B® = (A+ B)(—3AB + (A + B)?)
5 L AB

2P 4+ yP = 2P mod 3

3laxyz=x+y=2 mod3 (Fermat’s little theorem)
r==x1 mod3
y==+1 mod 3
z=F1 mod 3

543

A—B=0 modd 3AB+(A—B)?#0 mod §
or
A—B#0 modd 3AB+(A—-B)>?=0 mod §

F72. Ri,Ro,R3 ¥ Li,Lo, L3 347K 2% 1 DO LR WEEIX
FEMEZRUI AL D AL /2 720,

s2P7t ptaP = uyP™t mod §
¥
(u—y)y? '+ (z—8) ' = (t+2)2”" mod s
£oT
L=0 modd R#0 mod$

or
L#0 mod R=0 mod9d

R=0 modd= —aP ' #£yP 1 #£2P"1 mod$

16



1.44 R=0 mod?d
@2 4+ 774 () =0 mod 6
(xP~1)2 — g~ 1zP7t Pyl =0 mod §
2Pl — 2P P =0 mod §
2Pt —yP =227l mod 6
o 2P — zyP~! =22~ mod §
o yzP~! — y? = yzP~! mod §

o zxP~l — zyP~1 = 2P mod 6

xP — .’lfyp_l = g;zp_l mod §

—zyP ' =9P mod §
22P" ' =27 mod d =
2PyP L 6 72DT
—xZy modd
z# 2z mod §

22 LoD T
—yZx mod J
pr_l zyp_l = Zp mod 6
Z.rpil =z mod =
y? L § DT
zZx mod §
£oT
P yP =2P mod
=2
P — xzp*1 = ;L'yp71 mod § (24)
yzpfl + yp yg’;p71 mod § (25)
—zyp_l + pr_l = Zp mod 6 (26)

17



1.4.5 R#0 modé

(24) &b — 2Pl P = 42 mod 6
—x“=yz mod ¢

z?=—yz mod ¢

(21) &b (mp_1)2 =yP 2P mod 4§

(362)1771 =yP 12771 mod é
(—yz2)’ ' =yP 12" mod &

yP Pl = PPl mod 6

(25) &0 yzP~toyaP !t = 2Pz mod §

y? =2z mod

(22) &b (y”_l)2 = 27712771 mod ¢

p—1 _ _
(y*)" =—2"""2""" mod §
-1 _ _
(x2)P7" = —aP712P71 mod §
P 1P7l = gPm1Pml mod §

(23) &b (zp*1)2 = 2P 19?71 mod §
(zz)p_l = —zP 1y~ mod ¢

y?~! mod &

y*~! mod &

TS DERICIKT %,

LKoTR#0 mod

18



1.4.6 L=0 modJ

R#0 modd§ , (12)(13)(14) &b —aP~ L =¢yP~1 = 2P~ mod §

1.47 L#0 mod/

0 Layz BolE, ZOHTLBFHETE2DOTUTRDESICRT N TE S,

P+ U2 = TyP2 mod 0
P —yP+UP? = Ty’ mod 0
—P + U2 = 224 Ty?2 mod 6
_Typ + UTZP*2 = T(_Z?’ + Typ72) mod 6
UT = y*2* mod 0
_Typ + yzzp = —T(Zp — Typ_Q) mod 6
(22 —Ty?™?) = —T(z —Ty""?) mod 0
yP(2P —TyP™?) = —TyP 2z’ =Ty’ ?) mod 6
Ak
—P+ U2 = —224Ty*2 mod 6

U(—y? +UzP?) =
UT = 4%2? mod 6
U(UzP=2 — 4P)
U(UzP=2 —yP)
—ULP2(UP2 —yP) =
P l=yP7 ! mod§ DY =

2%y modd &b
2
T=2 ,U=¢y>BLlYL

—UzP +UTy?"2 mod @

—UzP 4+ 2%y mod 0
—22(U2P"% —yP) mod 0
P(U2P~% —yP) mod 0

mod §

22 —TyP 220 mod §
UzP"2 —y?#£0 mod 6

THE0,5

Yy = —TyP"2 mod §

—UP72 =P

2

Yy =-—z

mod §

2 mod §

19



0 Layz 2513, ZFOYWITHFETZ2DTURDEICRT I EMNTE S,

U'zP=2 4 4P
U'2P72 4 2P — P
U'ZP=2 — gP

U'T' 2p=2 —T'zP
U'T' = 2222 mod 0

x22P — T'2P
22(2P — T'zP~?)

xP (2P — T'zP~?)

ARk
U'zP=2 P =
UU P72 —gP) =
UT = 2222 mod 0

U'(U'2P~2 — zP)
U'(U'2P~2% — gP)
—U'2P72(U'2P72 — gP)
P l=_gP 1l moddDE =

2% —x modd &b

T'2P72 mod 0
T'2P72 mod 0
T'2P~2 — 27 mod 0

T'(T'zP~? — 2P) mod 6

~T'(z* —T'2P~%) mod
~T' (2" = T'zP~?) mod

—T'2P72(2P — T'2P~2) mod 6

—2P 4+ 72772 mod 0
—U'2P 4+ U'T'2P"2? mod 0

—U'2P + 2227 mod 6
—22(U'2P72 —2P) mod

P(U'2P72 — 2P) mod 0

P72 #2772 mod

U=z ,T'=22BlL
2P —T'2P72#0 mod
U'z2272 —2P #£0 mod 6
THBNH
2P = —T'2P~2 mod §
—U'2P"2=3" mod §
22 =—22 mod$

20



0 Layz 2513, ZFOYWITHFETZ2DTURDEICRT I EMNTE S,

UryP=2 4 T7 P2
UryP=2 4 T7 P2
U”y”72 — P
UT7yP=2 —T72P
UT” = 22y? mod 0
22yP — TP
22 (y? — T xP~?)
2P (yP — T»xp*2) =
ARk
U”y’kz — P
U (U — o)
UT” = 22y? mod 0
U (U — )
U (U = o)
Uy AU )

yP 1= 2P modd DY &

y%Z —x modd &b

= 2P mod§#
= 2P 4+9y? mod 6
= yP - T72P~2 mod 0

T (y? — T72P~2) mod 6

T (y?P — T”mp_Q) mod 6
T’ (y? — T72P~2) mod 6
T’ 2P~ 2(y? — T72P~2) mod 6

yp _T” $p72

U» yp _ U”T”pr_Q

mod 6
mod 6

U’yP —y%2P  mod 6
y*(U7yP~2 — 2P) mod
yP(U”yP~? — 2P) mod 0

yP"2 #£ 2”72 mod 6
U=22 |, T"=y>BLlL

y?P —T72P"2 #£0 mod &

U'yP~™2 — 2P 20 mod §
THH»H

P = T7 P2

mod §

U’yP~2 =yP mod §

LAL. 2#0 mod § DT

=Yy

mod §

r+y#0 modd
rz—y#*0 modJ

CHIEFET S, EoT
L

Z0 modd

21



1.5 §6=2
151 2|z , 2Llyz
S=2prx
+z—y=pa2r

af = 2P —yP = (z = y)(py" " + (2 —y)(...))

2| L=prmta?
2]a

2 1 R=pa®
21«

z+z—y=pala+pP " e
2k = q 4 pP=In=1gP=1 — 5dq
20 =1
LL, a+p®-On=lgp=1 S 1 ROTFET %,

S =2kt %
r4+z—y=a2"

= =y =(—y) "+ (z—y)(..))

2| L=a"”
2| d
21 R=a"
21 d

r+z—y=d( +aP?)
28 = o/ + P = odd
20 =1
L2U. & +aP 1 >12DTFET 5,

2|y L, 21z D ERy+z—7
‘2|z ,21lay D EE 2+ 2+ y X THBOMREZIE 2,

£oTd=2Dt %
2P +yP Z£ 2P mod ¢

22



